> HEH 90000 cm?

1m?2 = 10000 cm?
9m? = 90000 cm?




n
=

1ha = 10000 m? = 100 m x 100 m
(g ®o] 100m 1 HAZE 2 Yol)




3. [ Kl =0z 4% 242 FoAe.
0.4km? = I:lha = I:la

> =

i

40

vV V V¥
0
iy

0
n

= . 4000

1km? = 100 ha = 10000a




@ cm? © m?
® ha @ km?

9] el ol : oF |
=
=

>
> g O

1km? = 100 ha = 10000a = 1000000 m?
BE o] Holk m? 9IS £yt
et Age Oyt




iy

n

v v vV v vy v vVvyy
0x
iy

© 100
HEFD 100
HED 100
HED 10000

1km? = 100 ha = 10000 a = 1000000 m?
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2m = 200 cm
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1km?2 = 100 ha = 10000 a = 1000000 m?
(1) 6.5km? = 650 ha = 65000 a = 6500000 m>
(2) 930a = 9.3ha = 0.093 km?
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1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a =0.49ha

@ 6800000 m? = 68000 a

® 370a = 37000 m?
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@D 13ha =130a @1.8km2 = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha
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® 5.6 km? = 560 ha
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@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg
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@® 0.02km? @ 0.2ha (3)2000a
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® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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D)0.3km? @ 0.3ha ® 300a

@ 3000m? ® 3ha
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@ 0.3km? = 30ha

® 300a = 3ha

@ 3000m? = 30a = 0.3ha
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® 5800a @ 1.43km?2
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D0.21 ha = 2100 m?
@3000cm x 45m = 30m x 45m = 1350 m?
®5800a = 580000 m?
@®1.43 km? = 1430000 m?
(®1.41 km? = 1410000 m?
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